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Please make sure that the printed pages in this question paper are 16 in number
and it contains 35 questions.

© T 7 5T & R T3S T B 66 G-y # gy o g

The Code No. on the top of the question paper should be written by the candidate
on the front page of the answer-book.

o« PV T F TG @ B 7 I8, T A FE T S

Before beginning to answer a question, its Serial Number must be written.
o FECYRTH 3 @7 7 G ) e T 6

Don’t leave blank page/pages in your answer-book.

. aggﬁawaﬁwﬂ?w#s‘msﬁaaﬁw; AT SIRIRAFAT & frd o forar ae7 7
/

Except answer-book, no extra sheet will be given. Write to the point and do not
strike the written answer.
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o PV g 3 T 3 @ §F T ghkar v 7 B were 1 T @@ & qaT % GITT §H
gy § F)F 9 T @He 7@ Bar s

Before answering the questions, ensure that you ‘have been suppl

ied the correct and

complete question paper, no claim in this regard, will be entertained after
examination.

qE 35T -

General Instructions :

(i

(1)

(iii)

(iv)

(v)

(V)

2629

T T AT &1

All questions are compulsory.

I9% J97 5% TGP THT T 77 &

Marks of each question are indicated against it.

797 #9% 1 @ 14 7% g 7o 15 @ 18 a% SiFHT-#T J#T & 7 &
T9% J7 | 1% 27 & for7@ @el guv orv suv-giasr 4 i@t &

Question Nos. 1 to 14 are objective type questions and 15 to 18 are

Assertion-Reason type questions, carrying 1 mark each. Candidate have to

write the correct answer in their answer-book.

57 % 19 & 25 7% SHT-TqaITE A7 & G T 2 G 5 & IAE 97 7
I T 30 =) F Ao

Question Nos. 19 to 25 are very short answer type questions carrying

2 marks each. Answer these in about 30 words each,

97 % 26 @ 30 % TYTIAE 5T & JF g9 3 STH B & O g7 F T

TTYT 40 = § Horw

Question Nos. 26 to 30 are short answer type questions carrying 3 marks

each. Answer these in about 40 words each.
97 #% 31 UF 32 g% 4-4 S & &

Question Nos. 31 and 32 are 4 marks each.
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(vii) 797 #7% 33 235 q% i FUHE J9T & FEF §9T 5 B F 81 A% 497 FH

TV TTHT 70 =T F dforq

Question Nos. 33 to 35 are long answer type questions carrying S marks

each. Answer these in about 70 words each. .
(viti) F9FTT 7 79 &7 @ B Py 7& & awily gv gea F o T HIT B T
& 08 yof # @ oIvE PaT T & HIT FA &1

There is no overall choice. However, internal choice is given in some

questions. You have to attempt only one of the given choice in such

questions.
(g ww)
(Objective Type Questions)
1. zéodsﬂmaﬁfaﬁé@r%: 1
A ¥ (B @
(C) =X ; (D) T

Number of significant figures in 2.005 is :

(A) Two - (B) Three
(C) Four (D) Infinite
2. TR e A R o gReRi A ¥ 7 1
@A 1 -. - - (B) 2
(C) 3 _ (D) 4

How many unpaired electrons are present in Nitrogen atom ?
a1 (B) 2
(€) 3 (D) 4
2629 P.T.O.
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3.

5.

2629

(4)
9, 17, 35, 53, 85 T %A a1 T oA & :

2629

(A) e (B) H&@ 1|

(C) . Uewetl e A (D) HeHor T

The elements with atomic Number 9, 17, 35, 53, 85 are all :
(A) Halogen's (B) Noble gas

(C) Alkali Earth metal (D) Transition metal

-1 A g g o 7 R 7

A) CO (B) BF3

(C) Hz0 = D) OCh

Which compound do not show zero dipole moment ?

Ay Cog- - (B) BF;

C) B " ' (D) CCh

TH/A § HyO 1 Al 599 &1 & 7 1
(A) 44 | . (B) 18

(C) 17 (D) 60

What is the molar mass of H>O in gm/mol ?

A) 44 ' B) 18 .

(). 17 . (D) 60

@ e B A g A e o 8, ol ekt R 1
(A) faepes (B) SISATANY

(C) SSEd (D) WhiiaTs aiffepar

When water is added to quick lime the reaction is :

(A) Explosive (B) Endothermic

(C) Exothermic (D) Photochemical
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7. KCIOz ¥ Cl % ST e a1 ¢ 7 . 1
@) +5 ® +3
(G} L (D) -1
The oxidation number of Cl in KC!Oa is::
) 5 B 43
(€C) +1 (D) -1
8. arusfic Tl N SN FHHM S R Sl E 1
A) S By & B) zgw iy &
() fex #=x Ry & (D) e oy &
Molecular mass of volatile substance is determined by :
(A) Kjeldahl's method (B) Duma's method
(C) Victor Mayer's method (D) Leibig's method
9. T & e e @ Y w9 A E | 1
(A) AU=q+w ' (B) AU=gx w
(C) AU=-g-w (D) AU=w-gq
Mathematical statement of first law of thermodynamics is :
(A) AU=qg+ w (B) AU=gxw
(C) AU=-q-w (D) AU=w-gq
10. ¥0W F Ree Rl (sigma) 9 % &4 B § 7 1
A) 128337 B) 1157 2n
(C) 1289 1nx (D) 138d3n

How many Sigma and Pi bond are present in the Benzene ?
(A) 125& 3 ' B) 115& 2=
(C) 128& 1= (D) 138& 3=
2629 - | P T 0.
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11. -1 F&F sG9d D HAHT F & 7

12,

A) s
C) d

Which orbital is dumb-bell shaped ?
(B)

A) s
C) d

CH3CHO % TUPAC HH 8T :

(A) Aceteldehyde
(C) Formyl chloride

The IUPAC name of CH3CHO :

(A) Aceteldehyde
(C) Formyl chloride

13. AR Reis %1 @& 7 &eT

14,

2629

(A) 6.022 x 10%
(C) 6.022 x 10

(B)
(D)

(D)

(B)
(D)

(D)

(B)
(D)

18

©

©

Methanal

- Ethanal

Methanal
Ethanal

2629

6.022 x 1026

6.022 x 1022

The correct value of Avogadro's constant will be ;

(A) 6.022 x 10%
(C) 6.022 x 10*

(B)
(D)

6.022 x 1026

6.022 x 1022

Grerer e (Rreerd) & R ore] e o 3 9 % 7

(A) 12
(C) 6

(B)
(D)

24
3

How many molecule of water of crystalization in Potash Alum ?

(A)7 13-
€ 6

(B)

(D)

24
3
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(7) 2629
Frafifed uedt (o o 15, 16, 17 T 18) ¥ a3 Fo9 RI 1 ¥ afree (A) @
FRO (R) AT Fo H AEE e B Rl @i B S o e w2
T 7@ R # R T R (A), (B), (C) W@ (D) F & gt forfaw
(A) (A) @97 (R) AF 8 & iR (R), (A) I T8 @& &
(B) (A) T (R) 3+ & ¥ &R (R), (A) # &8 &reAr 72 2
(C) (A) T & AfBA (R) FTA B
(D) (A) ST8™ & AfBA (R) §A &

In the following questions (Q. Nos. 15, 16, 17 & 18) two statements are given for

_each. Assertion (A) and Reason (R). Study both the statement carefully and

decide which answer option is correct and write the correct answer by selecting
the given option (A), (B), (C) & (D) :

(A) Both (A) and (R) are true and (R) is correct explanation of (A).

(B) Both (A) and (R) are true and (R) is not the correct explanation of (A).

(C) (A)is true but (R) is false.

(D) (A) is false but (R) is true.

AFET (A): U SifTRAT H 1
Zng) + CuSOs(gq = ZnSOs(gq + Cuyg)
fier up oTqEgS § Al g8 @ ifwdga & S B
R (R) : Rref Yt arfdiferar & affediens o< @i #& AT & S &
‘ T ST FAdee Wbt Sffedigd B S el
Assertion (A) : In a reaction
Zng) + CuSOs(qq —> ZnSOagq + Cuyyy)
Zn is a reductant but itself get oxidized.
Reason (R): In a Redox reaction oxidant is reduced by accepting electrons

and Reductant is oxidized by loosing electrons.

P T. 0L
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16. IRERgT (A): JPEC Th o9 &I
BT (R): T R T g ¥ Rl o @ e 3 ooy A gl

Assertion (A) : Graphite is an Element.

Reason (R): Element is the pure form of substance containing same kind of
atoms.
17. SR (A): 9% WX & g & @ o @1 F9UdS gedl ol 1
R (R) : ‘qrETERY I e AR H ghy & @7 ggdr 2
Assertion (A) I: Boiling point of alkanes increase with increase in molecular
weight.
Reason (R) : Vander Waals's force increase with increase in molecular weight.

18. IR (A):  HYQ eESEEA TEENG w7 § F B o ¥ _ 1
FT(R): &l g R & g9 AW o & e ¥
Assertion (A) : Saturated hydrocarbon are chemically less reactive.

Reason (R):  All Isomeric paraffins have same parent name.

(rf-sreTs ge)

(Very Short Answer Type Questions)

19. (a) ?@Ewﬁﬁgﬁﬁﬁﬁ%ﬁ%ﬁ?{? 1
How many total electrons are present in the Nitrate Ion ?

(b) I A P gt R R - 1

Write Electronic Configuration of chromium atom.

20. BFaﬁmﬂﬁ%ﬁWﬁﬂiﬂﬂE’%%’@qﬁmm%eﬂTNHs%Hmaqﬁ[ﬁm
m%:ﬁfmmﬁ%?aﬂ%eﬂaﬁmwamwm%?

BF; does not have proton but still acts as an acid and reacts with NH.

3 Why 1s it
so ? What type of bond is formed between two ?

2629

2
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21. Freifien i s B o et Rt g wgfa i : <
Cry0;" (ag + SOz(g) = Cr(ag) + SO,* (ag) (ar<ira)

22.

23.

- 24,

25.

2629

Balance the following redox reaction by Ion Electron method :

+ = P
Cr,0.* (ag * SOz = Cr”"(ag + SO;*(qq) (Acidic)

qa15C F (CH3),C", CHyCH," & &% et & oR CcH,* wa8 39 Rax B 7 2
Explain why (CH3]3C " more stable than CJ}‘:’GCI-JTQ+ and CH3+ is least stable
‘cation ?

(a) IR OF RTE F pH=7 B, @ IgH POH AF T HIT 2

(b)

If pH of a solution is 7, calculate its POH value.
pHH 1 8 AR 371 & §8 T CH,COONH, Remw ¥ =l o)
What happens to the pH, if a few drops of acid are added to CH,;COONH,,

solution ?

I 1 SoEbis ST F ¥ 7 sae Rhaiay Rafew 2

What is Electrophillic substitution of Benzene ? Show its mechanism.

HYG[
OR

FABergT AN HEAET F dlFg T P

Distinguish between Carbocation and Carbanion.

()

(b)

ﬁﬂ%ﬁm%mﬁaﬁwaﬂgﬁmmﬁmﬂﬁaﬂwww%? 1

What is the basic difference in Mendeleefs Periodic Law and Modern

Periodic Law ?

ww%%#@maﬁmwwﬁm%wﬁs@mﬁmﬁwwm
Hotl FH Bt & 7 1

What is the reason that first lonization energy of Nitrogen is higher while
that of oxygen is lower ?

P. T.Q.
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27. TF o "X" B G FHS 13 8

28.

(@)

(b)

(©)

(15 2629
(e )

(Short Ansv«rer Type Questions)

mﬁﬂg@ﬁqﬁmwwwzoow% a dfeggg o gg AfET T @Rl ? 1

A measured temperature on Farenheit scale is 200°F. What will this

reading be on Celsius ?
I i i Ao 4 8 frEd 5.85 I NacCl(s) dfa 500 FEl g 7 1

What will be the molarity of a solution which contain 5.85 gram of NaCl(s)
per 500 ml ?

aﬂﬁﬁ@mmﬁﬂm@ﬂwm‘a%?

What is the relation between Molecular formula and empirical formula ?

(0%]

An element "X" has atomic number 13 :

()

(a)

2629

"X I geegis e e

Write electronic configuration of "X".
36 T P FaRC o X' w2
State the group to which "X" belongs ?
X" T G AT A ?

Is "X" a metal or non-metal ?

oH S F 701 @ FON T GG N SR A o ¥ R 304 s
g B e S R afen & R ol S ¥ qr wReds @ 2 2

In a process, 701 Joule of Heat is absorbed by a system and 394 J of work

is done by the system. What is the change in Internal energy for the

process ?
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(11) ' 2629
e e o ol 1 s o e A foe | I i 1
What will be the enthalpy of all elements in their standard state ?

Y4l

OR
Frafa # g & yeX & 99 6K Fel STl ol R T wd $ WE-er S e A

 QREdT I O T A 1 de] ey 19 & SaR Maig § geadE §9 8 e o,

@ % A 5 @R <

Expansion of the gas in the vacuum is called free expansion, calculate the
work done as well as the change in the Internal energy if 1 litre of the ideal
gas expands isothermally into a vacuum untill the total volume is S litres ?

29. UF FENE AFF § 69% FEA X 4.8% TES ardl &l ael = SifRie ol 5§39

30.

' 2629

A F 0.20 IH Tf G54 B 3, O S@IRG CO; AN H2O B FZAN &l TR Bl 3

An organic compound contains 69% carbon and 4.8% hydrogen, the remainder
being oxygen, calculate the masses of CO; and H>0O produced when 0.20 gram of
this compound is subjected to complete combustion.

UG
OR

IYGHRT I B TG grSfded UG ST qoamAG THE 9 B A Hif

Explain the term Inductive effect and Electromeric effect with suitable examples.

()

(o)

Hgae @ Refy § frr o & [l Ke 70 8 7 %
250y(g) + Oa(g) = 2505

[SO,] = 0.6 M [0,] = 0.82 T [SO,] = 1.90 M

What is Kc for the reaction in state of Equilibrium ?

25059 * Osig = 2505

- [SO,] = 0.6 M [O,] = 0.82 and [SO;] = 1.90 M

s FREd a0 R F @@ 10° T W AARH § oSN IR @ oTged @
REm & 40% B B €Y B R Kp T4 BT Ly, = 21 | 1%

At a certain temperature and total pressure of 10° Pa. Iodine-contains 40%
by volume of I atoms. L, = 2] calculate Kp for the equilibrium.

P T,

(¥ Scanned with OKEN Scanner



2629
(12)
31. FHETEH & Yeel Faq Sol GO & gHF G S o B gonelt ox @r) el @ o

Fet H WA AE § A ¥ 56D ogE el Rwew @ omgfd R N i
Y § HiAE FA H M, T GEERT W HH HE W @ e 8 MORE '
q[AQ=AU + AW] & AQ & T T ¥ &R AW yoreh &1 fRar M #E B 0 AU
ST Tt % REdT ¥ AQ W AW o SN & Mo gwEn @ A W A TR W
M 2 31 Af BrReE AQ- W TR W PRk 7@ e B

(a) TSRS 1 o fom f5as g § geeg 2 7 1
(b) -V T B & B AQ, AW, AQ - AW? 1
(c) Som 4 8t & ? | 1

(d) TR e e B ? 1

The first law of thermodynamics is the general law of conservation of energy
applied to any system in which energy transfer from or to sourroundings is
taken into account. It states that energy supplied to the system goes in partly to

increase the internal energy of the system and the rest in work on the

environment. Mathematically [AQ = AU + AW/| where AQ is the heat supplied to

the 'system, AW is the work done by the system and AU is the change in Internal
energy of the system. AQ and AW depends on the path taken to go from initial to
final state, but the combination AQ - W is path independcnt.

(a) First law of thermodynamics is concerned with the conservation of ..........
(b) Which is not path function AQ, AW, AQ- AW ?

(c) What is system ?

(d) Thermodynamics is the study of ............... ;

2629
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32. T o fere, 39 M R A T g Ry Y s A § A o @ Fafr
F @ & I A Na ARTT @RI § Feso, R @ H,S0, fwmr ot sfew i @
Eelf aﬁmmwﬁmm%@gﬁ%wwmﬁw#aﬁﬁwm
A 7 frm e gt & I §ifv
Three students, Vishal, Vaibhav and Vikas were determining the element
pr'esent in given organic compound by Lassaigne Test. Vaibhav added FeSO, and
dil H,SO, to Na — extract and observed Prussian blue colour. Vishal was keeping
some pieces of sodium metal in his pocket, Vikas asked him not to do so.

Answer the following questions :

(a) M AFF T A T AW TR 1
Name the clement present in organic compound
(b) FMA & ford qlieror ol 1
- Write the test for chlorine.
(c) Hdftd geg e 1
Write the value associated.
(d) @R TRRdE @ Hy 4 anl ? :
What is the nature of Lassaigne extract ?
HYGr
OR
fr=r Affet & TUPAC A1 dar :
i
@ o " Nn 1
(b) /J\/Y\ 1
() CLCHCH,OH 1
(d) CH;CH,CH,CHO I
2629 ' P.T.O.
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2629

ol 2629

Give the [UPAC names of the following compounds :

O

BN N

(b) A/Y\

() CLCHCH,OH

(d) CH,CH,CH,CHO

(& FTIeE I
(Long Answer Type Questions)

(@) UF B H FoAr H T HRC 2

Calculate the energy of each photons which :
(i) 5w F AFEY R R 3 x 1018 Hz B
Correspond to light of frequency 3 x 10'5 Hz.
(i) R atrReE 0.50 A &
Have wavelength of 0.50 A.

(b) 4000 Pm TERE I FHT B Pl F G FM T T 1 G o @ wd B 3
What is the number of photons of light with wavelength 4000 Pm which
provide 1 Joule of energy ?

HYT[
: OR

(a) TR AT | o oMfdleq 1 F wewm 74 ¥ 7 ,
Total number of orbitals associated with third shell will be ...

(b) R ol g A a=ar & . e 1
Orbital angular momentum depends on .................

(c) 4d omfded & f*R Frofig e & g ... 2l

.................
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(d)

(€)

(b)

()

(a)

(b)

(15) ' 2629
3p Hfdeq % o Weaw e & d&r ... g 1
The number of radial nodes for 3p orbital is ................. :
4d, 4f, Ss, S5p # ¥ g e # Tt ge@ 9 arft 7 1

Which of the orbital has lowest energy among 4d, 4f, 5s, Sp ?

HH-81 A% gdEm & CO, T N,0 ? HROT IR 1
Which is more ‘pol‘ar CO, or N,0 ? Give reason.

AT Ao oeft B\ g e @ BRW R A P 1
Why ethyl alcohol completely miscible with water ? |

(VSEPR) frara & g faeg wm & 7 3

What are the main postulates of valence shell electron pair repulsion

(VSEPR) theory ?

HYTr

OR
P TRt 21 e R 4 e BT A nfew i Rrar 3 o
W &% F=hid IO & I AT ¢ 0, 0,7, 0,”

Compare rclative stability of the following species and indicate their

magnetic properties on the basis of Molecular Orbital Theory & Oy, 0", 0,

qaﬁcogaﬂTHzoﬁm@maﬂ% Hgoagwmgsram%faﬁcozw
T s B 21 fEya ampet 3 oM W e

Although CO, and H,O are triatomic molecule the shape of H,0 molecule is

bent while that of CO, is linear, explain on the basis of dipole moment.

P.T. Q.
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35. 791 F ditra arem #Rw S
Explain in bricf : ' '
(@) e oiE |
- Wurtz Reactioﬁ '
(b)  ARHHIHEG B
 Markovnikoff Rule

(c) ST FIFE (e
Fredal Craft Reaction (Alkylation)

(@) TEIES M F R o Ry aaeg S R AR & g

Suggest a route for the preparation of the Nitrobenzene starting from
~ Acetylene. :

) I F A 3] ot 2 ?

How will you get Bromobenzene from Benzene ?

2629
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